
Correction fiche entrainement 1 :

développer , factoriser, Eg pud mul

0) f(u) = (5x + s)2 - (2x -7)
A) on développe :

f(u) = (Sx2 + 60x +36 - (4n2 - 28x + 49)
= 25x2 +Son +36

_
4n2+ 102-49

= 2x + 00x - 13

=>
+ ,R : f(a) = 2x2+ 88x - 13
3) on factorie :

2

f(ul = (5x +6) - (2x -7)

= (5x + 6 - 2x +7((Sx +s + 2x -7)
= (3a +13)( +x - 1)

=> FeEir : f(a) = (x+13) (7x - 1)
c) on resaut :

f(u) =o (3x + 13)(zx - 1) =0
E 3x+ 13 50 ou 7n-1 =0

(= 3x = =13 ou 7x=1

(= x= oux
S = ( -1



3) f(u) = (3x -3)(2x - 3) + (3x -5)
Alon développe :

f(u) = Gx2 - 27x - 10x + 45 + 9x2- 30x +25
= 15x2 - 67x + 70

=> VetR : f(u) = 15x2- 67x +70
B) on factorise :

f(a) = (3x-5)(2x - g) + (x -532
= (3x -5)(2x - 9 + 3x -5)
= (x -r)(5x - 14)

=> VER: f(x) = (x -5) (Sx- 14)
c) On résout :
f(x = 0 =(x -5)(5x - 14) =0

C 3x- 5 =0 ou Sx - 14 =0

(= 3x = 5 au Su = 14

(x=Tax = 145
S = (i)
(d f(x) =(x + 2)(9x -1) - (x -1)2

A) on developpe :

f(x) = (+x +2)(gu - 1) (x -1)
2

= 63x27x + 18x -2 = (01x218x +1)



= 63x2+ 11x - 2 - 81x2 + 18x - 1

= - 18x2+29x - 3

-> Autr : f(x) = -18x2+25x -3
Bon factorise : ↳

f(x) = (7n +2)(84 - 1) -ent
= (gx - 1)(7x +2 - 9x + 1)
= (3x -1))=2x +3)
=> Exem : f(x) = (9x -1))-2x +3)
S

c) On resort :

f(ulto ((x - 1))-2x +3) = 0
E) Sx -1 = 0 on -In+3 = 0

c= Su = 1 ou -2x = - 3

c x =1 ax =
-
3

-

Ex =zaux=

S = (i)


